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1. 3CIRAF

(1) 6 A 23 B AALOLRGHER (3°CLRTF)
HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERIMZ | 96 BRRTE
73553 0.110 0.110 0.110 0.110 0.110
N 2 7 Al 2 7 Al 2 7 Al 2 T3 A5 8
— AR B 4 F 2 F 6 T 4 F 19 F
IR E K 1 FLLF 1 FLLF 1 FLLF 5T 5F
(2) 6 A 24 B AALOLRGHER (3 CLRTF)
HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERETL | 96 BRRETE
73553 0.110 0.110 0.110 0.110 0.110
LR 2 T AR 2 T AR 2 T AR 16 15 30 75
— A 2K 19 T 18 T 10 T 16 T 20 T
IR £ 1 FLAF 2 F 39 T 1 FLLF 2 F
(3) 6 A 25 HZ AALOLRAGHER (3CLRTF)
HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERITL | 96 BRRETE
1733 0.110 0.110 0.110 0.110 0.110
AR £ 2 )7 A 2 )7 A 2 )7 A 20 )5 16 75
— A 2K 3T 14 T 19 T 16 T 27 T
IR £ 1 FLLF 1 FLAF 1 FLLF 1 FLLF 10 F
2. 5CIRAE
(1) 6 H 23 A= AFLORAFRER (5°CIRTF)
HH = N IRF 24 WEW# | 48 BEREITE | T2 BEREE | 96 WEfEITE
73553 0.110 0.110 0.110 0.110 0.110
WE 2 T AT 2 T AT 2] 38 7 99
— AR B 4 F 2 F 18 F 40 T 136 T
IR 1 FLLF 1 FLLF 2T 39 T 98 T

(2) 6 A 24 A= AHLOHEFRAER (5°CIHRTF)




HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERfL | 96 BERETE
73553 0.110 0.110 0.110 0.110 0.110
LR 2 T3 Al 2 T3 Al 25 75 747 91 %
— AR R 19 F 31 T 17 F 27 T 18 T
IR F K 1 FLLF 2T 60 T 60 T 40 T
(3) 6 A 25 HZ AALOLRAGHER (5°CLRTF)
HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERITL | 96 BRRETE
73553 0.110 0.110 0.110 0.110 0.110
WE 2 7 A 2 7 A ] 102 75 52 )1
— A 2K 3T 20 T 30 T 20 T 145 T
IR £ 1 FLAF 9T 4 F 60 T 62 T
3. TCIRAT

(1) 6 H 23 H=Z AFLORLFRER (T°CIRAF)
HH = NIF 24 WEM# | 48 BEREITE | 72 BERIEE | 96 WE[EITE
1733 0.110 0.110 0.110 0.110 0.110
R 2 )7 A 2 )7 A 10 5 387 98 5
— AR R 4 F 2 F 13 T 100 T 140 T
IR 1 FLLF 1 FLLF 4 T 60 T 122 T
(2) 6 H 24 A= AFLORAFRER (T°CIRAF)
HH = N IRF 24 WEW# | 48 BEREITE | T2 BEREE | 96 WEfEITE
73553 0.110 0.110 0.110 0.110 0.110
YR 2 J7 A5 2 T AT 2 J7 A5 25 75 66 5
— AR R 19 F 15 F 19 F 56 T 30 T
IR 1 FLLF 2T 84 T 29 T 19 T
(3) 6 A 25 HZ AALOLRAGHER (TCLRTF)
HH = NIRF 24 BEfEI% | 48 BERM%E | T2 WERITZ | 96 BRRETE
73553 0.110 0.110 0.110 0.110 0.110
RS 2 7 AR 2 7 AR 10 )7 148 75 -3
— AR B 3T 24 T 31 T 23 T 22 T
IR 1 FLLF 10 3T 29 T 11 T




